R85 £ MR #5 RGBS
BEESE (BRMR 160 60/1440 $ 4,486,600 e o
AL (R | 161 60/1440 $ 51,300 FAofl o A
BIELEA
Rah s |BaH
nE 3 s WAL 2T 58 7k
sew | 1 | 2 57 | smpwig [RE|#FZL L |0 jax
Rk | ;A 1 L EES
bz |1 2 &F xF ®7H 1 | 48 |=x
#KAER = E35K) 1 48 |Ex
178 £%x ML E 1| 48 Jax
K& EX %23 1 48 |Ex
=% #rkE 1 A8 jma
k¥ | I#MHA 1 ]224 |
&7 | zkmipe (ST ZER| L 22 jas
k& | I48 1 | 224 |
R | EH% 1 224 (@
RF EX L] 1 56 [E#
k% = EEX 1 56 [Ex
g % REKH 1 56 |
178 EF | el | 1 | 224 |an
st | zomise |[RT|RER] 1224 jas
ZF | madde | 1 | 224 jEm
Ef | miE& | 1 | 224 jax
=% EX 3 1 56 &
xS LEX-Y) 1 56 |E#
RF kF| REE 1 | 216 |En
HhEE k¥ RER RE| e | 1 | 216 |&n
172 k& | BRARRR 1 216 fmax
ESa RS & 1 72 lex
B ok &F | Bk | 1 [1440 [eEx
=F ¥ | RESH 1 [1440 |max
£ AgA 1 80
R wF BREA 1 72 lE#
RiLA i | HREN 1 | 216 |&x
/8 BT | mER | #E
2F REEI/T2 | k& | kL wE
&F | Has 1 | 216 |ax
Rk | #Hs | 1 | 216 jEx
~F REX 1 72 &
K%k PR ARk 1 72 |Ex
= RE 1 72 &
w4 SR 1 72 lmx
=ES RS 4T 1 8 |E#
RF #FTER1/56 EF| k& 1 56 |E#x
= #HEAR1/56 = HEL 1 56 &
& ELYES 1 56 @
kP | wRe | 1 336 |m
XRF| BEd 1 336 {max
kF . = BRE | 1 336 |max
HAk1/8 Rk W& 1/56 R Ry n 338 s
k% | R 1 336 [ma
K& | BHK 1 336 [ma
= Ak 1 56 (@i
W& Bikm sk 1 56 |[ma
ERS FlHAE R 1 56 [max
A% L& 2 120 (ma
kF HhiE B 2 120 [ma
RF A — 2 120 |&E#
k% RF = ik 2 120 [&#
Hisbr |HEL/B | i HE% 1 | 120 |&x
172 % A 2 | 120 |an
R& bk E 2 120 |&x
EXS HEH 2 120 |&x
BB | REIn 1 240 |&x
T | REB 1 240 jma
&7 | mmstie BT ERER| L0 s
= RE¥ 1 240 |ma
ki | ®EE2] 1 240 |En
 a sk | BAE | 1| 240 |mx
U8 = mER 1| 40 |ax
o ¥ RT3 1 40 |Ex
KT RE#H| 1 120 @
EF Rki=Fa1/40 k¥ | BkA 1 120 |mx
k| BZRE| 1 120 |m#
*% HERKX 1 IR T
-4 w 1 8




